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80& 36,0000 x4 3] 11,520
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AN EF 2l
Ha: A)ES HATA DY DE(HIRS/HBAZSAY)
ool HEBHES EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 33,000
s 92,605
101 @144 dl 9,305 8,893 412
04 D12t 22 EE 9,305 8,893 412
OEAZQOE M 9,305
OJles 38,8803 «1H » 127 4,938
Osg=+¥ 38,8803 1«57 2,217
On st 5,000 =1 127 635
O= &l 5,000& »1H »127 635
OPIE=E= 480
o WX 40,0003 x 1«63 240
. &= HlE 20,0003 +x2H+63 240
OZ 2 Fotyl 400,000 x1H »13] 400
201 Let2d] 22,600 15,300 7,300
= 8,200
Al 8,200
e 6,200
01 At 22l 12,200 2,900 9,300
O g+t 12,200
O2x gzd:= oIM  4,700,000& 4,700
O=HM0ttE ) M=
500,000& *3IH £ 1,500
O=MOIIE 222 & MA 6,000,000& 6,000
= 3,000
Al 3,000
03 A2 Z Hl 10,400 12,400 A 2,000
© gt e 48 AA HAFZ
10,400, 000& 10,400
= 5,200
Al 5,200
202 Odl 2,100 2,100 0
01 = LH 4 Hi 2,100 2,100 0
O2&2| o dl 2,100,000 2,100
207 O] 100,000 0 100,000
= 50,000
i 50,000
01 289 100,000 0 100,000
OJI=¢s H2 NEA 2 =g
100,000, 000& 100,000
= 50,000
i 50,000
301 et d =S 74,600 34,600 40,000
= 24,800
Al 24,800
s 25,000
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TE: AL
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SEER T

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 HALA B2 A2 9,600 9,600 0
O24aItA HHEE &E A 9,600,000& 9,600
2 4,800
Al 4,800
12 JIEHE& = 65,000 25,000 40,000
OEAZQAE QIHEE 40,000,000& 40,000
= 20,000
Al 20,000
O=MOIIE SR Ald= 25,000
Ozls=+ 9,000,000 14 & 9,000
o= 5,000,000 *20H 2~ 10,000
O&d 3,000,000 *20H 2 6,000
Ao MENH 2 (SEES/IHY) 105,360 85,160 20,200
2 35,000
Al 17,500
2 52,860
Orlls - AlE B3 105,360 85,160 20,200
2 35,000
Al 17,500
s 52,860
s - AlE B3 35,360 25,160 10,200
201 £Br2%| 1,560 2,160 A 600
01 At 22/l 1,560 2,160 A 600
ou=l 1,560
OlMssE Zgcs & FXE 1,560
. Het=s 80,000& »12H 960
. OHE S} 50,000& 12 600
203 YR =2t 1,000 1,000 0
03 Al =AY R =& 1,000 1,000 0
O0tds - A8 E3g:R =& 1,000, 000& 1,000
204 AR HH| 3,000 3,600 A 600
03 EZYREH 3,000 3,600 A 600
omera sl 50,000 «5H 122 3,000
206 M= Hl 11,400 7,200 4,200
01 MHZ 8l 11,400 7,200 4,200
ORMOIEsS=E FHE 25 7L 11,400
Ogs &¢& ,000& 3,600 10,800
O= 25,000 »24H 600
301 LAz 17,200 10,000 7,200
12 J|EtE 4= 17,200 10,000 7,200
ORdioIds=E FHE UHE 7F4
300,000 24X 7,200




SN BEUD
= U MEH B (BHEES/AH)
& OfdE - A2 BES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=s%&=2 Ilol 2&4= 10,000, 000& 10,000
307 21201 A 1,200 1,200 0
01 9 2¥ 72| 1,200 1,200 0
O+s OrdES= XZHl 100,000& *123] 1,200
Oris= HollMEAIE £X 70,000 60,000 10,000
= 35,000
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s 17,500
402 BI2HX=201 M 70,000 60,000 10,000
= 35,000
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thorstd 88 (#E3ES/UD1) 105,487 66,055 39,432
Holeg Ea 2l 105,487 66,055 39,432
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405 THobH S| 25,000 0 25,000
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2A: sZae
B 2XEY SHBR(RYRSS/NGLEE - 2H)
Sl BB4Y £FQY WS 22 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
., N3, B2 S 1,000,000& 1,000
. REEI 50,000& x228F A 1,100
Ox=Z&AAD UHl SEZMAH 5 4225
FeU(S - H HiRrE) 6,000
. REEIL 50,000& *608+ A 3,000
., FEEES 50,000& *60E8F A 3,000
OxZ=dEg 428 F2¢ 600
o H=2 ALK () 120,000& *5& 600
Ot 2elAAE 2F A2 A A 2,760
. BOD 8 7 &= 230,000& x12& 2,760
SE20F AIEHE =& HE & =8 9,800 9,900 A 100
201 LEt2 Y| 4,300 4,400 A 100
01 At 22l Yl 2,300 2,400 A 100
oo =2 1,150
OXNEYLEE HA o4
1102 *2,00001 x4 = 880
Os =2 M 60, 000& =21 120
Oz2t0l Helsd& Dl 150, 000& * 17| 150
o1 =yl 1,150
OxZE=Z HEaMEE NESHSE 1,150
. HY=E 80,000& x5 400
. Ot St 50,000& x5 250
. oM A 20,0003 x5H x53] 500
02 53294l 2,000 2,000 0
03322 % MA 2,000
OosJI2H 1,750& x1,0000H 1,750
OgutH 250& *1,0000H 250
202 04| 1,500 1,500 0
01 2L Y| 1,500 1,500 0
O 22 0l 1,500,000& 1,500
203 2P EF Y| 1,000 1,000 0
03 A =X SR =AH| 1,000 1,000 0
OxZ& L EYY 2HA HLREX
1,000,000& 1,000
204 X2 = A H| 3,000 3,000 0
03 SELREHI 3,000 3,000 0
ool g st 50,000& x5 x12& 3,000
s MEsd x4 2 XY HES(BEES/HIIZ) 9,203,577 8,257,747 945,830
= 21,700
Dl 20,532
Al 247,312
= 8,914,033




SA sHB D
Hu: y2E MEBEY Z4 Y NN WES(HILS/HIIS)
ool Nz (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
NSEEZ e 7,416,081 6,818,282 597,799
= 19,200
Jl 20,532
Al 220,512
= 7,155,837
SE0ISA 22 343,886 300,099 43,787
201 et A | 173,816 168,574 5,242
02 3524l 173,816 168,574 5,242
O Xtg - &yl 173,816
O=tE0Istd AKX R
1,857& %120 =262 251 x12& 173,816
206 M = Hl 146, 150 109, 025 37,125
01 M= bl 146, 150 109, 025 37,125
O=ZEITGA AP 7Y 146,150
O338 M) 85 380& *350, 0000H 133,000
(OF 5 13,150,000& 13,150
301 dEtE A= 23,920 22,500 1,420
10 HAIAHI B A2 21,160 19,500 1,660
O=H0ISFA HXRX AS 400,000 x46H *13] 18,400
OstB0Ista MIHAMT) 30,0008 «46Y 23] 2,760
12 JIEtE & 2 2,760 3,000 N 240
O&ZHDIS J19E RU(E, =4)
30,0008 *46H *x23| 2,760
HA L 2g 22 1,231,028 1,118,705 112,323
101 @121 646,227 646,516 N 289
04 JI2ZtH 22 XNEE % 646,227 646,516 289
O=E0ITA FIAZAH HE HAMH 305,653
(OPIE=3= 44,4103 »18H x208! 166,272
Osg=xxY 44,4103 »18H x96 76,741
OZ2 bl 5,000& =18 x208 18,720
Onstl 5,000 *18Y x208 18,720
OJIESY 10,800
. B X 40,000 184 =102 7,200
., & - HlH 20,000& *18H x10& 3,600
OY &SIyl 400,000 18 *23| 14,400
oA ST EA 244,835
oJlea 44 4103 #24H x 127 135,362
Oxsg=dg 44 4103 24 H x57L 60,753
[Or=2=1:l 5,000& *24H x 127 15,240
[@FnE=3:]| 5,000& x24H x 127 15,240
OIESY 8,640
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SA - ZE-B(EA) - NRAY - B S il
o B Xt 40,0003 +24H 63 5,760
. E-HlE 20,0003 «24H «6& 2,880
OZEFOtHI 400,000% *24H 13 9,600
Ot A [(ZEO0I2A THE) 95,739
OoJlzgs 44,4103 *20H +61 54,181
Osg=+% 44,4103 20 »29 25,758
O=&l 5,000 *20H x61 6,100
Oun &t 5,000 20«61 6,100
ONs=g 3,600
o B Xt 40,0003 «20H «3& 2,400
Z - His 20,0003 «20H «3& 1,200
201 L2yl 30,241 30,341
01 At 2t 2l 21,061 20,041
O el 18,980
OMEHIIS =HHMAEZE 828X WA
60& *50, 000 0K 3,000
OmJIs=d 2 M=
60,000 * 120 2 *43] 2,880
QHIIE =HEMN =2 200,000& »2A 400
OUEHIZ M2l AEH M
2503 *4,0000H 1,000
OE"EI 22 s E28HX MH
60& +20,0000H 1,200
O=2" S| b X =
150,000 *700H 2 10,500
ol =tl 780
O=28 S| 780
. Het=s 80,0003 x6H 480
. 2Etst 50,0003 6 300
ogxtz 1,301
O=HIHE HII=S &2 24|
450,000& *23| 900
O33MEE dANEIE 7ML HES
400, 130& 401
02 =224l 9,180 10,300
oz3&E2= & HMA 9,180
O3z JANEXNE SZ 0 o
dol= 50,0003 « 1000 &= x128 6,000
OHJI22d JRHe SERS 3,180
. et 270& 3,000 810
=P 1,770& =1,000AH 1,770
. BtsE 1,500& *40024 600
202 oddl 1,800 1,800
01 SLHOYI 1,800 1,800




AN EF 2l
Hu: g2e MEBEY Z4 Y NN WES(HIES/HIIS
el R FB R (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2| ™o dl 1,800,000 1,800
203 YR =& 1,000 1,000 0
03 Al Z=A Y 2= 1,000 1,000 0
OFA & HII=2 2&E FRFA 1,000, 000& 1,000
204 AR A H| 3,600 3,600 0
03 EZ YA 3,600 3,600 0
omera sl 50,0003 6 x12& 3,600
206 = Hl 4,500 4,100 400
01 M2 4l 4,500 4,100 400
OZFH 2235 P 4,500
(OF = 400& 5,000 &l 2,000
O& 5,000& 5004 2,500
301 e A3 7,000 7,000 0
10 #AAHIEAZ 6,000 6,000 0
OstZZHl AEE WA 2HAH]
3,000& x100H 103l 3,000
OFA~E ME FWHA XA 8,000& »375H 3,000
12 JIEBHE4 S 1,000 1,000 0
oXrgJl 2EEI MINELAS
1,000,000& 1A 1,000
401 A& HIZ 201 Y] 42,740 42,740 0
01 A& HI 42,308 42,308 0
33 M8 SAEINE ZX3AM 42,308
O Al 40,000,000& *5.77% 2,308
O3 Atdl 40,000,000& 40,000
03 Al2 S THHI 432 432 0
033 MHEE LAY HXSA
40,000,000& *1.08% 432
403 UtXISHHEA=01 & 493,920 379,008 114,912
02 S| 2SO0 CHEHCHE AL B 493,920 379,008 114,912
OMJISEMSE Ml
16,800& *2,000E 12 403,200
OUEHIIZ HMelbl 16,800& x100E 122 20,160
O33HJIE HMeltl 8,400% *600E x 128 60,480
O==ofM Il HMelbl 16,800& x600= 10,080
MMy Il =L Hel 5,031,470 4,243,002 788,468
201 Let24d] 2,400 0 2,400
01 At 2teltl 2,400 0 2,400
OMBHIIZ +Z20 YA B 282
=4 100,000 6% x4 2,400
207 A RO H] 10,000 25,000 A 15,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 289 10,000 25,000 A 15,000
O2014EFE S MEHIIS =28 Aot
¥ 89 10,000,000& 10,000
307 glz2+0l & 5,019,070 4,218,002 801,068
05 RIZtE = 5,019,070 4,218,002 801,068
odaMyg I =H2E HE=
4,962,070,000& 4,962,070
ORHSIIHIIE Meldl (=& =28 LF)
260,000& x150& 39,000
O=oHM eIl =& 28I 30,000& *600E& 18,000
MEYJIEEH RBEE HME L 22 336,658 333,844 2,814
201 LEr2 Y| 5,908 2,308 3,600
01 At 22l 3,748 748 3,000
O L Eet=EH| 3,748
OSZN=F EHOHA XE AEIA A
6,000& »5000H 3,000
OZZMSE M2 300,000& x23| 600
O3EME SEHN=sE +8 74,0003 *23] 148
02 =224l 2,160 1,560 600
02323 % HAl 600
OZSEN=sE ZRFL et
50,000& x12& 600
OA&ZH Rl 1,560
OS2FdMs 2208 RAUES
130,000& » 123/ 1,560
206 M= Hl 297,720 291,900 5,820
01 24l 297,720 291,900 5,820
oXrJIZSEM AASE A 273,540
Ob5¢ 263 x120, 000 0K 3,120
0104 343 «650,0000H 22,100
0204 55@ *2,500,0000H 137,500
O504 1143 +500,0000H 57,000
O 1004 207& *260,0000H 53,820
OsgMNMEE HRE 214 6@ *4,030,0000H 24,180
301 LprE A 33,030 39,636 26,606
12 JIEF2E &3 33,030 39,636 A 6,606
o= |zMaxg X SHHSE 2l
3673 +2,500H <30« 122 33,030
S3KE g3 FH| 213,975 202,032 11,943
Al 106,987
s 106,988
101 @124l 207,679 199,706 7,973
Al 103,839
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x
W
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I
10 P
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105,974,000

44,4102 ~6E 2052

44 4103 ~6H x99

5,000& 6% 2052

5,000& 6% 205

40,000 «6H «10&

20,0002 «6H 102

400,000& 6 #23

H =

Al

HJ

H =

Al

M

Al

M

Al

HJ

Al

M

H =

207,679

105,974

52,987
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